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® -V6+3v2-5

V2(V2+ V3) - V3(V6 - V3) = V6-3V2+5
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26 X 6V2 x x = 48 V3
24/3x = 483

Lx=2




Vi
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A= V5 + /(=2 = /B x (- 3)°

B = Vi x \/§+<_\/§>

@2 o4 ® 0 @ 1 ® 2

A=14+2-3?x2=7-18=-11

B=12X§+<—g>:12x§x<_§):_10
9 3 9 2

A+ B=-11+(-10) = -21
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15. +x olste] #ArdS2] M5 N(x) 2t 5, 2 < V5 < 3 o|B &2
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® -10 @ 14 3 16 @ 19 ® 25

N(1)=N(2)=N(3)=1
N(4) =N(5) =---=N(8) =2
N(9) = N(10) =3
SAIX3+2%x54+3%x2=19




&2
flo
M
rlo

O

16. -5 ok V5 Atololl Sl ol tigt A & 274

V5 =223. 0|22
-5 9} V5 Atolofle —4,-3,-2,-1,0,1,2 2| 7 79| A7) QU




17. AFZEANA V2 = 1414, V6 = 2.449 & ©l, 0.02 + v0.06 2]

|= R

Alae] f2?

O 3.863 @ 38.63 ® 386.3
@0.3863 ® 0.03863

/ 2 /| 6
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= (0.3863




18. Vi 4 2¥V3-9

V3
@ 1 @ 2 ()3 @ 4 ® 5
B
B 2\/5_92 (2\/§—9)X\/§
+—75 4\/§+—\/§x\/§
6-9V3

=4V3+
=4V3+2-3V3=2+13

kA, 1< V3<20] 3 <2+ V3 <4 0|BR Fote
B2 3ot




o|J
S
o}J
ol
Nfo

ojn




10
20. V6xaV6=18, VEx Vb =15, V1.2 :«/‘+7%JHH,E}%%
7] 2 A9
D a<c @ axc<b ® b<a®+c3
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